
COPEN

-241350

JCBC (W) SCREW 7 X 32MM (BLK)

ALLEN KEY M4 ( BALL SHAPE )

JCBB BOLT M6 X 30MM (BLK)

PH 5 X 32MM (BLK)

    2

(+1 extra)

1

CHAIR LEG ( L & R )

CHAIR BACK

CHAIR SEAT

2

1

1

A

B

C

D

ITEM

ITEM

PHOTO

PHOTO

HARDWARE NAME

PART NAME

QTY

QTY

1

2

3

    2

(+1 extra)

    1

(+1 extra)

E

F

G

JCBC BOLT M6 X 70MM (RB)

    4

(+1 extra)

SPRING WASHER 5/16" (RB)

FLAT WASHER M6 x 13MM (RB)

    4

(+1 extra)

    4

(+1 extra)



COPEN

-241350

F

B
G

A

G

3

L

R

1

2 C

GD

E


